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SIEN B HA:2005F 7 A 31 H

= Al 2 & i3 i3 & &
HEE(En A 9,629 13,142 22,771
MEH(T 6,209 8,073 14,282
A 307 275 582
JNEF 6,516 8,348 14,864
H&E(ap HEEK 2,276 1,239 3,515
H¥=T 1,150 759 1,909
4 190 75 265
JNEE 1,340 834 2,174
A5G (Fre BmAEHE 9 12 21
WMEEE 2 4 6
EET 1 1 2
JNEE 3 5 8
E5E(Ge BmAEH 7 14 21
WEEE 1 4 5
ESE Y 1 1 2
JNEE 2 5 7
FEBE SR ( BmAEH 14 16 30
HEEE 8 9 17
ESE Y 1 1 2
JNEE 9 10 19




ATz {E1 ( mAEK 2 1 3
BEEE 1 0 1
By 0 0 0
NEF 1 0 1
B8 (Ko MASHE 11 12 23
BEEME 6 4 10
EET 4 3 7
JNEF 10 7 17
ENSSRE( mAEK 0 1 1
BEEME 0 1 1
BY 0 0 0
NEF 0 1 1
AR mASK 1 1 2
HEEE 0 0 0
B 0 0 0
JNEF 0 0 0
f&7E(Ru mAEE 2 1 3
HEEE 0 0 0
EET 1 1 2
JNEF 1 1 2
BE(Ca mAEE 1 0 1




HESE 1 0 1

A 0 0 0

JNEE 1 0 1

gt A 11,952 14,439 26,391
=T 7,378 8,854 16,232

4% 44 505 357 862

JNEE 7,883 9,211 17,094




